Efficiency vs P,

+0.05
o
£0.045
3
5 0.04
£0.035
(0]
0.03
0.025
0.02
0.015
0.0
0.005

Ratio

.................................................

..............................................

.................................................

.................................................

1.0

iy

I
i)
e

o
©
a

=
<

[iN

! 0 18 el

—=— DQM_orignal_origmalrvector_1000evt
—e— DQM”original_1000evt

—— DQM_fitted4_T000evt

—— DOM_fit_nocpe_1000evt

FFL. SUPITEE AT INATI AT APIEATI T

Efficiency vs @

2-0.02
9.018F
> o
9 .016F

||l-|||




	Contents
	Page 1


